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Inicio
Leer sp, D, R

'Calcularemos C1:
Si (sp > 1000) Entonces
    	C1 = 0
Sino
    	C1 = (D + R) * 3
Fin Si
Escribir (C1)

'Calcularemos C2 separado en CD y CR:
Si (D <= 6) Entonces
    	CD = 0
Sino
    	CD = (D - 6) * 4
Fin Si

Si (R <= 3) Entonces
    	CR = 0
Sino
    	CR = (R - 3) * 5
Fin Si
C2 = CD + CR
Escribir (C2)

'Decisión:
Si (C1 < C2) Entonces
    	Escribir ("Conviene el tipo de cuenta 1")
Sino
Si (C2 < C1) Entonces
    Escribir ("Conviene el tipo de cuenta 2")
Sino
    Escribir ("Es indiferente")
Fin Si
Fin Si
Fin 
